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1. Convert each of the following values. (6%)
a. (1011.0101)= (  )s
b. (-469)10= (s
c. (101)e=( D6

2. Explain the following abbreviations/terms: (25%)
a. SOC

b. WAN

c¢. Call by value

d. Call by address

e. Data mining

3. Convert expression A»(B+C/(D-E)) to a postfix expression. (4%)
4. Develop a recursive function to compute the GCD of two integers. (10%)

5. Suppose that A is a two-dimensional array, the address of A(1, 1) is 644 and
the address of A(3, 3) is 676, compute the address of A(14, 14). (10%)

6. Give a tree representation and evaluate the value of the prefix expression
+-x 235/X236 (8%)

7. Write a program to compute the number of nodes of a Singly Linked List.
(12%).

8. Analyze the time complexity of quick sort in the worse case, best case, and
average case (10%)

9. Tell the story about the following ER (Entity-Relation) model. (15%)




